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8 |EE HFF 34 34 3.3 30.7 58 |imHE & 44 44 9.0 35.0 108 |£2F &iF 43 43 b.b 37.5
9 |FFE HFEAN 36 36 5.0 31.0 59 |Efff 1E— 45 45 10.0 35.0 109 |/\K =z 44 44 6.5 37.5
10 Ak IERE 37 37/ 6.0 31.0 60 [Hf FIE 4] 4] 12.0 35.0 110 | [ER 45 45 1.5 37.5
11 [hig F&E 45 45 14.0 31.0 61 |f@& 7 49 49 14.0 35.0 1M |F FxE b1 b1 13.5 31.5
12 |{hEH EF 42 42 10.5 31.5 62 |=H X 51 b1 16.0 35.0 12 B/ T &E£ 41 41 3.3 37.1
13 [AK ZFE 40 40 8.2 31.8 63 |=lff B 38 38 2.9 35.1 113 [R#¥ IERE 42 42 4.3 31.1
14 )| & 40 40 8.2 31.8 64 |=lF fiF 42 42 6.7 35.3 114 Rl 1T 43 43 5.3 37.1
15 |#% = 42 42 10.1 31.9 65 |RE K#t 37 317 1.5 35.5 115 (&£ Rl 44 44 6.3 31.1
16 |B1E = 40 40 8.0 32.0 66 |EEE Hth 38 38 2.5 35.5 116 |#HBE =4 44 44 6.3 31.1
17 |#) HE 42 42 10.0 32.0 67 |HhE =i 43 43 1.5 35.5 117 |fgiE  #i=l 45 45 1.2 37.8
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22 |F =# 317 37 4.5 32.5 2 |EH =1& 49 49 13.5 35.5 122 |HIR BAF b4 54 16.0 38.0
23 ||z HHt 317 37 4.5 32.5 13 |EEl B 40 40 4.3 35.7 123 |EH H5h b4 54 16.0 38.0
24 |#F RAI 38 38 5.5 32.5 14 [l & 42 42 6.3 35.7 124 |2l 1= 56 56 18.0 38.0
25 |EBft BEER 46 46 13.5 32.5 15 |l#E Rk 42 42 6.3 35.7 125 |'"MA & 43 43 4.8 38.2
26 |[##@ B 40 40 1.2 32.8 16 |F) i 43 43 1.2 35.8 126 (¥R &= 44 44 5.8 38.2
21 |'h& —A& 43 43 10.1 32.9 17 |#%F KEB 38 38 2.0 36.0 127 |iEB 8§ 45 45 6.7 38.3
28 &%t Z7 317 37 4.0 33.0 18 5% Ez2 39 39 3.0 36.0 128 |/h#k == 44 44 5.5 38.5
29 [R#F & 39 39 6.0 33.0 19 [%k8 #®BE 41 41 5.0 36.0 129 (12 =&EX 49 49 10.5 38.5
30 [FJIl KZH 42 42 9.0 33.0 80 B —% 41 41 5.0 36.0 130 |84 2 50 50 11.5 38.5
31 (&’ HFF 317 37 3.8 33.2 81 |#EHE [EF 42 42 6.0 36.0 131 (i  #2isR 52 52 13.5 38.5
32 |#EH #ih 39 39 5.8 33.2 82 |EH Bx 43 43 1.0 36.0 132 | Bk E# 53 53 14.5 38.5
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34 |8 =B 43 43 9.7 33.3 84 (e EE 43 43 6.7 36. 3 134 |YEH fB—ER 44 44 5.3 38.17
3B |tE A= 43 43 9.7 33.3 85 [dt)Il #®= 48 48 11.6 36. 4 135 (L)l Emd 45 45 6.3 38.17
36 [EE HExX 38 38 4.5 33.5 86 |dt)Il £ 52 52 15.6 36. 4 136 [JI[Lg £ 46 46 1.2 38.8
37 |ME HFH 41 41 1.5 33.5 87 [lWuFx ERL 41 41 4.5 36.5 137 |mk ERA 49 49 10.1 38.9
38 [IaK  IEH 41 41 1.5 33.5 88 [FH —E= 42 42 5.5 36.5 138 |ZEH f& 50 50 1.1 38.9
39 |HE F 42 42 8.5 33.5 89 |INR iF 43 43 6.5 36.5 139 |#@ Z— 42 42 3.0 39.0
40 1557 EF 51 51 17.5 33.5 0 |5%& BFE 46 46 9.5 36.5 140 [/hiy #B1E 45 45 6.0 39.0
M ||mERE BB 37 37 3.3 33.7 o1 |7 F=E 47 47 10.5 36.5 141 |RE #%— 49 49 10.0 39.0
42 |\l = 39 39 5.3 33.7 92 |i®H K 49 49 12.5 36.5 142 (BB #BF 49 49 10.0 39.0
43 |28 HE 35 35 1.0 34.0 93 |EElEF HE 50 50 13.5 36.5 143 |B N2 b1 51 12.0 39.0
4 INg —F 40 40 6.0 34.0 94 |& H*H 39 39 2.4 36.6 144 /NI F0E8 52 52 13.0 39.0
45 |biR EiE 41 41 7.0 34.0 9% |EE IF# 43 43 6.3 36.7 145 (hOEkE Z=|ZER 43 43 3.8 39.2
46 |)IFT B 42 42 8.0 34.0 9% |#fH 2 42 42 5.0 37.0 146 |TRE AHC 45 45 5.8 39.2
47 |/h#k BASE 49 49 15.0 34.0 97 |&EH ZH 43 43 6.0 37.0 147 | NIFBER M= 47 47 1.7 39.3
48 |&F & 41 41 6.7 34.3 98 |FER AR 47 47 10.0 37.0 148 (KK Ha*X b1 51 11.6 39.4
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151 |BBK IE=E 50 90 10.5 39.5
152 (A &7 ol ol 11.5 39.5
153 |#ERE BmTF 46 46 6.3 39.7
154 K #28 47 47 1.2 39.8
155 (WA FEsA 90 90 10. 1 39.9
156 |EHE #= 45 45 5.0 40.0
157 (KK 558G 56 06 15.9 40. 1
158 [EI B— 4] 47 6.7 40. 3
159 (=48 B2 48 48 1.1 40. 3
160 [F)l &EF 96 96 15.6 40. 4
161 [FH =0 06 06 15.6 40. 4
162 | & T 45 45 4.5 40. 5
163 |BfF f#7 93 53 12.5 40.5
164 |§H W= 46 46 5.3 40.7
165 |Ba+T FHRED 49 49 8.0 41.0
166 (FH E#ZE 47 47 5.7 41.3
167 |#&A = 50 50 8.7 41.3
168 |ILEF ZFEfA 46 46 4.5 41.5
169 |FRiE (EFE 49 49 1.2 41.8
170 (de)1 mE—ER 95 95 13.2 41.8
171 |HLE FE 05 95 13.2 41.8
172 |{&%r =Z1& 48 48 6.0 42.0
173 |k &= 48 48 6.0 42.0
174 |AREB E— 49 49 1.0 42.0
175 (#r& BRI 48 48 5.8 42.2
176 |BFO 8 X 49 49 6.5 42.5
177 |#Ff9 B 96 56 13.5 42.5
178 |AlR B8 60 60 17.4 42. 6
179 R =EB 95 95 12.0 43.0
180 |EAR HF 49 49 5.5 43.5
181 [kK& MY 50 50 6.5 43.5
182 [(B/K &A 98 58 13.5 44.5
183 [FBK = 60 60 14.0 46.0
184 |HIE =i 61 61 14.0 47.0
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